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Which of these is the strongest relationship? Which has the highest correlation?

The correlation would be a misleading summary statistic for the 3 graphs that are
not football shaped.
Reminder: Correlation Warnings
Correlation can be meaningless if

o The relationship is not linear at all

e There are extreme outliers in the data
It is best to use the correlation to describe data whose scatter diagrams are
FOOTBALL shaped.

ALWAYS PLOT YOUR DATA



Scatterplot of IPBA (In Play Batting Average) and Average
(seasonal data)
Red <1951 Blue > 1950.
Correlation = 0.36
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Each data point is the league average in a single season.

Here we can see that there is quite a different relationship between IPBA and Average before
1951 and after 1951; it may be best for our analysis to split up the data.

Scatterplot of IPBA (In Play Batting Average) and Average (seasonal data)
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Overall: r =.36
Red: r=.97 Blue: r = .91
Scatterplot of IPBA (In Play Batting Average) and Average (seasonal data)

This scatterplot demonstrates how much more tightly the data clusters in the
football shape when it is separated; traditionally, the football shape indicates the
best type of data for prediction.

The correlation for either data (red or blue) is almost 3 times larger than the two
together (.97 and .91 vs .36).
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ml = 1lm(data=Dla, BA_2021~BA_2020)
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plot_BA_2020_2021_3a = Dla %>% <\|| .
mutate(pred = predict(ml, .)) %% é

ggplot(aes(x = BA_2020, y = BA_2021)) + . x |

geom_point(size=2) + 0.20 RO

geom_smooth(formula="y~x", method="1m", se=FALSE, linewidth=2) °
plot_BA_2020_2021_3a
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